2019—20Y—XY RAUKM)AXFNo2
@8 BEEEED °

+  |SATHIX
1 3120[ KB B4 S9F (RA
2 2568| F1E {5 ARG 257 (Raci) . X 0.00
3 30761 & AER TRRE—55T 2 0.00 0.00
4 52623k A K& TAVIR RX—H5T g 11.31 11.31
5 5105|—/# &R NEFRF—EH = 11.64 11.64
6 8362| =& & R NE R A B RS —8 5 19.78 19.78
7 3351[ K% ] 271—E9FRE—b57 z 22.18 22.18
8 6861[ T sk R NBE b AB R —E | © 2020 26.49
9 5421 |l Fig AAAR—YRE—557 - i 5?'33 23.59
0| ol L AR AEEEE AR AT | § 304 Ty
i 7696k X 597 (RACH) ' = 3441
12 7860| 5B AER Rt T 35 37.49 37.49
13 8401 |3 HH 2 S5y (RACH) : 2028 43,28
14 12303 8 EHRXRE— e Z 470 44.70
i5 119655 Tt A BEETLAERE S B | © m to5t
16 6528 KA EB eyt : .94 46.94
17 11234[3F =3k T Ay, § 48.66 48.66
L S126 T AR ARHEETRABREAY—& | = 5010 5010
INRR F — L S5 = : .
20 1858| Pt 2= ;L/_@?r;ﬁ;#_,ﬁj ; 51.17 =117
21 9961|FEEF Hifd AR e EFREFERRT—E = 57.32 57.32
23 6288|Fa /R EEft BHAKR—YRFX—H5T L 60.27 60.27
24 2636| & H 4 77 Syoa 5 61.30 88.71
25 3523|3158 &=t NERRE 55T ; 62.19 62.19
26 5478[ 1@ A4 RN TR AR AL 5 5 62.70 62.70
! G = Lo A BErRAERHERT 0 | 5 sy 0322
b2 A S ) N—KS RIS = : .
29 2154 |EEE7 AR 2‘;&/-?-—7;3_",75/7/ 2 L2 64.14 64.14
30 6871|421 Ml iy = = 1y Z 65.24 65.24
31 8494 AL B A TERAT—&7 3 67.59 67.59
32 T1008[ KK T ST CCEL U T > oo 8928
33 1247 FIL ELAES FoAE— FoEay ST 69.95
34 63132 M &2 o TR XA —HST g 1276 92.87
35 5421 (2 TS TRhEEBAT B | © 7509 7505
37 7851/ B 5 R R e TRhEERRE & | & . 8027
38 11090 %5 XJ—IN—~_ZF = 2 e 80.50 80.50
39 11085/ L/ BB RI(L-R7 55T > 82.03 98.57
40 7626] 35 01 B GODL—Y % 2 oo 82.8
41 6967|ARER EF S—J75K)— 5 84.84 84.84
42 7217[/NE & i) S SE— AT 55T 35 86.15 86.15
43 10695 (18 %3k PhER:—ET = 86.88 86.83
44 6757|5 )1l E% B LS 255 5 86.97 100.12
45 3630 AT Ak Ty — e L 89.45 89.45
46 10677| B BAE S+F (RACH) Z 90.03 90.03
47 1879[ %1% piiE = X 7 91.23 91.23
48 5257|#1 A FRE FOO R R —55T Z 92.65 92.65
49 1595 ¥AA fE 2 I—TXTLF—IL A 93.98 93.08
50 4341 F 8 B o T — = 96.14 96.14
51 10400[H & 742 AR E TR AE R AT 8 § 96.67 96.67
57 5463]= 74 i£ ¥ ARSI RAEENAT— | 5 5777 9146
53 629685 A RAER MAXIMUMR % —F — L - ol .77
2 1047 LA #hEx MAXIMUMR ¥ —F—L ; S0
55 412| %55 ks 19y - 98.07 98.07
a7 40T 7 MAXIMUMA X —F — 1 ; fots7 o187
5199\ H Tk L — S - k : 87
T
99 EHIE (A = — : . 36
10107| 2F &F T4 (MyS) R —557 5 TYRE e




60 7834 BEZE 7—IJLE— koXx3y E: 104.95 104.95
61 10682[BB K Fik EERAX—95T E: 105.38 132.13
62 10284[H Il $8/ BHRAKR—YRF—H5T E: 105.42 105.42
63 25574 1L & F—L1 x> (TEAM VON) E: 106.22 106.22
64 3405|257 ZER FTAIL— 0 F—1Ls : 107.03 107.03
65 2097 KB = F—.Is A (TEAM VON) E: 107.03 107.03
66 1768|{F ik @17 MAXIMUMR ¥ —F— L L 109.30 109.30
67 11633[;RH F& BBER—vH8&L—20 5957 [ 109.77 120.04
68 7883| &Il E1T AHAKR—YRFT—H5T E: 110.29 110.29
69 42921k ;R FODLURF—H5T E; 111.90 111.90
70 1026271 BA AHAR—YIYRX—H5T 5 112.64 112.64
71 11132 KB BiE BRSNS FRAEEERT—5 E:] 114.25 114.25
72 43661 < K E— F—L Syl E: 115.14 115.14
73 11233[/ EE 21K FARVAX—H5T E: 115.63 115.63
74 11430{F )1l B BERABSEFRAEEBRT—H 5 116.24 116.24
75 10502( 2B & RRS e EFERATERX X8 E: 116.85 116.85
76 11974| R% BE BERABSEFRAEEBRT—E 5 117.71 117.71
77 4454(th# A AHAR—YRFX—H5T E: 119.39 119.39
78 7854[ 7K )1l K& BRAeEFRAEEERT—E ] 119.88 119.88
79 5388| B2 = AE—H—Y LRI L E:] 120.03 120.03
80 1312|ILA #82 HEHARAX—HE E; 120.09 120.09
81 65553 F thiA ERAFTRXE—H5T E: 120.59 128.16
82 1174 KF —EhRAX—ER E; 124.06 124.06
83 10355[)11@ —H] EEXX—H5T 3 124.63 124.63
84 5381|FE[R E& RREBPERATEBR T E: 125.04 125.04
85 1029785 K BRAE BRI ERATEER T 5 125.51 125.51
86 1817| L8 i#fF AHAR—YRF—H5T L 125.57 125.57
87 11946(|EE% & O—2J79K8)— 5 126.17 126.17
88 11429|FR B X Rl EERAEEBR T8 5 129.00 134.05
89 1411|SH &N HEBIHFHRT—93T ;] 129.03 129.03
90 8215| KB 1& BAIXRBE X ERE S AT —E ;] 129.16 129.16
91 6295 IF AN7A MAXIMUMR ¥ —F— Ly ;] 129.41 144.13
92 1885|515 8k INETHR X —ES 3 130.47 130.47
93 10703|$8 = D BHRAKR—YRF—95T E: 134.46 134.46
94 1740(#B & & BXXX—ER 5 137.26 137.26
95 3112[ KT fERd F—LTA—TIL_R—N\—RXF—H5] E 139.50 161.09
96 11520|Fk /R HiE RS EFRATEERT—E 5 140.14 140.14
97 11550[fiE ZEth ERBSEFEFRAEEBRT 5 E; 140.18 140.18
98 11407|RIF Bz BRI FERATGEBR T E: 140.23 140.23
99 8778|#HR £ INEFRX—EFH E: 140.83 153.31
100 8378[ 4T NECKF X F—&f s 141.04 141.04
101 4286| T15 FEi FEAX—U5T 5 142.18 142.18
102 9685[ )1l £N1% A B IN—=bZAT L—0F [ 143.11 143.11
103 10982|#5K HEX BR7IXFoT-RX—-957 E: 144.27 144.27
104 4030/;57K iE5 Ao B N—=rZA4T L—05 E: 144.71 144.71
105 11634 |8 274NV —L—05F—14 E: 146.68 146.68
106 3908[EH EAAI A50—LA¥—495T E: 148.24 148.24
107 2989[85 K & HEHARAX—HE [ 148.54 148.54
108 5728|EH && R eEERAEEBR T8 5 149.43 149.43
109 156 1T B2 HKEFHAXT—ER ;] 149.72 149.72
110 69715 R #XR FHBEAX—957 E: 150.14 150.14
111 10659|88 & BEA BERAFFERAEEER T E: 150.45 221.46
112 11582|EiF EXER R EERAEEER T8 E: 151.04 151.04
113 7891|85K E GODL—Y 24 E: 151.19 151.19
114 3469|= H #A F—L1 x> (TEAM VON) E: 151.47 152.12
115 10327|;B%F sh K HR#APERATEE X E: 152.08 159.81
116 5493|EE & FNEI AE¥F—H—YJLR) L 5 153.18 153.18
117 4108|3138 BER BHRAKR—YRF—H5T E: 153.83 153.83
118 53375k & AEs BRI FERATEER T E; 154.07 154.07
119 6208| HEE & AHAKR—YRFT—H5T E; 154.50 154.50
120 6384| =15 B 249 5 154.60 154.60
121 11140|Fh)Il Bifg R eEERAEEER T8 E: 154.66 154.66
122 74601k Bk E£C BTEmAX—ER E; 155.28

123 2147[1ILA ik HAAXAX—HE & 155.36 155.36
124 11039[/M1| ZEFA] RREBPERATEBX T E: 156.87 156.87




125 10823[EAA B S
126 o EE e e -
127 ;;23 g;; %%% **ﬁ”kzﬂ‘éﬁéxc1t1y<=§§xifgﬁﬂ“ ? 15771 157.71
128 10478[ILIA BT %{%ﬁ;ﬁz{ oL—17 = 18179 157.79
129 2480| E1E IRER ZR EEFRATEERF—I : TORE 158.69
130 5343|541 AR E F—F—LFRY—F 5 160.1 1081]
131 27695 H T F—L-E—r5— £k 2 160.16 173.22
132 2847 R =— Z?EI—.LO\ZiF—’Jij B 161'2? 160.53
133 3102[#A #AEH 7—FAR—YRX—=557 = o 161.21
134 6310 =1 & ;‘;ér 17_\;(/:;1 — 5 2255 122_35
135 8348 5:% tHE i:‘?_%ﬁ_é'_%'m‘**1gﬂz? BE 5 163.27 3.1
6 | 110581778 S EZBESTRATEIAT 8 | 3 163.32
137 11209 F £ & i]’_’fx_l_j\*—ﬁj_?77 5 TR 163.32
138 7357|#h Bk BEHC tht%rS.a%‘; RAEERRT—E] 5 164.28 e
139 4496 [FE ik 1048 E,%Z*—EEE_ \ e TR 164.28
140 11656 T H 2] ﬁ?;—QIJJ/?jFI;Ov? — Ez 16470 164.70
% 10282 L S S LT ST T : 164.80 8450
3 A mE L e 65.02 650
144 2038 AT %L’E 4#§'Jz%ﬁ;§¥1t17<§%xd9—%ﬁn i 165.13 165.13
145 1519| 2K 2 %Zl—t‘yhx#—baj‘ ] e 165.87
146 1899[=% A *2775‘12-3#—-937‘ 2 167-42 179.93
147 1072755t K& §+§§_Z7? — pE 16869 167.46
148 10087 X% BEF A EEFRATERRF—ED T TN 168.69
149 2017| R FT A— ;‘f‘;}*—b—ﬂ B 575 168.91
150 5353| % B F Ea,ﬁ BERE—H& 7 17017 169.79
151 10900[85 K R gs#”f‘_‘/?ijﬁ—’ﬁ?‘ E: 171.20 17011
152 10275| % E ii"é{ﬁ;’{?l‘ [ e 171.20
153 3678|JII.E F— RR PEREEEE T : 172.35 171.9]
154 5455|Fk1L fi— —/t ﬁgyw— __ 5 23 172.35
155 T1096|= & EIVE Rt 5 Tear 198.22
156 11628| KA & &l 7@2‘4;(?2% EEH R 8 2 17585 132_35
}g; 1112817k B & XES i?%ﬂ?%"ﬂga?’kﬁag = 177.39 177'33
5733|— /i & EaE Bi~F XM H EERE—E 3 177.45 '
159 1836 &= i ;& RBPERATEER T8 7 T 177.45
160 117931k 25 RT2—EvFRX—557 % 17285 177.85
161 11958[FHI 21T BAL—Y 2 TAX—557 - 179-07 184.74
162 7006 R B g%xjﬁ—777 ‘ E; 179'12 190.23
163 7604[FALL S5 —LE—fo—-Huk Z 1791 179.18
164 2845 FE X BHE 5577?}7;3#—.757“ 5 181-03 180.13
165 11121 [ B 5 ECLD%LE;;;"{ _ p 18102 181.02
166 5252 BiE BE AR HEE AR REAT B | & 18151 o
3756 A AAE BA = —7 77 ' '
169 5430|Eih &2 ;ETV%;L?-;'\:’F—-/J%?‘ § }gggi 182.92
170 3368[/1\ 3k BhER RRFNFAT A% 2957 ; 184.41 B
7] 2718[ Ll e SLHBEIAC AN 957 7 184,85 845t
5B 1065t BT S EET ST TR Z 185.70 18570
3370| \AR EX FEAE 55 B8 A%l 5 186.32 :
174 2915|721l i %& = Z 186.85 o
i 6859 71 T iine=r 2 186.95 5600
5389 BH = BHLAY—FHE . _
177 8327 1| Eii&i ;Egﬁﬁﬁff%tﬁ%ﬁiﬁx#—%ﬂ ; 13318 187.16
178 9134| bR =— ZE{ P ERAEEBRXT—E B 18770 187.40
179 11390[Z K A A ?;5‘—/_\_7ng—|~ - B 202.68
180 9209| A BE #ﬁ?ﬁé }?712 =i g 188.85 132'23
182 1141913516 12 R BICRAEED Z 189.65 e
11212|850 X ii':%‘ i f’-réLﬁJ;PnZ:’F—g[g E: 5013 .65
183 4595/ 2 1% SRS EFRATEFRT—H] : 750, 190.13
184 57591l H R 24V 2 190.;6 190.76
122 1950 I FEA ;i-—L\Z;;J'_‘joEAM Vv 2 ‘91.13 13??3
12156 B 1% B £ ON) - .
187 8006 /\EE ;_ét ?ﬁgﬂi%ﬂﬁﬁiﬂtfﬁ‘%x#—ﬁﬂ ? 13222 192.33
188 842|{f i ABA T4 7"7@_ R % 192.54
189 3954| R BB TAVIR RX—H57 : : 192.54
ZRAX—957 - 192.58 192.58
Z 192.83 207.02




190 10861 (%LU BN 2747 Y G X-RAx—4957 E: 192.89 192.89
191 11138|fE+E F=—ER R eEZRAETETRT—E E: 192.96 192.96
192 11256 [H1H X FATRX—D57 E; 193.54 193.54
193 3261|#8HE A ZAX—9357 B 194.19 194.19
194 11614|KH 18 INEFRX—EHR E; 194.86 194.86
195 3703[AJI ,uE BRAR—=YIVHIS5T [ 195.35 231.42
196 11938|fEXK EZ FOILRXF—H5D E: 195.60

197 4377|811 58— TAIL—S0FF— L4 E: 195.97 195.97
198 11458[5F & ; hu HR#APERATFEE R 5 196.41 196.41
199 3655| A& r A B IN—=FTZAT L—=0F 5 197.88 197.88
200 5374|1TA sh2 =HTA4ER95T ;] 198.65 214.32
201 11055|X1F 5[ INTARAR—YH5T ] 198.98 198.98
202 2543|148 K E A DI—T I REX—H5T B 199.02 199.02
203 5122[;&K BIE Hi8{ERMARMRX— E: 199.02 225.25
204 10690| 7 JL—R 40T+ —K BHAKR—YRFX—H5T [ 199.21 199.21
205 7468 | H HHAXAX—HE L 200.06 200.06
206 1226|#k = 7] F—L Svyia E; 200.78

207 7566| A 51 TAL— 0 F— L4 E: 200.82 200.82
208 11742|#0H £ BRI FERATGEBR T E:] 201.17 201.17
209 8709| % HEZBR EEXRX—95T E:] 201.58 201.58
210 3372| /)1l FiE NTTERRRAEX—HR E: 201.83 201.83
211 1487|Hdh BE— Ia—-aL5—K EH 202.22 202.22
212 6369|8EH FEX EVEFRE—HSD E; 202.40 202.40
213 11389|1F H &4 ERHeEFZRATEEIT—E L 202.76 202.76
214 11175(&k0 %ufzé EnesEERAaEE XX —5 [ 204.05 204.05
215 9650| F [ —& 9‘-—A-t“—|~r7—-t“\yr~ 5 204.27 204.27
216 5871|HE SEf SEABSIRXF—H5T E: 204.57 204.57
217 1079| 2R &Eh EERAX—95T E: 204.63 204.63
218 8438| Xk 18 nEAX—9357 E: 204.92 204.92
219 5679 1 =&k AHRAR—YRFT—H5T ;] 206.17 206.92
220 11423[F01L I8 —F+BEETFILRCRAXT—H5T E: 206.40 206.40
221 778|FH £ HiiE XXX —EY ;] 208.79 208.79
222 3996|AE;R BH BERAX—HE 5 209.50 209.50
223 2320| KLU FES 1—IRILT—)L E: 209.79 209.79
224 4846 |:= Bk KER REFHATF—ER B 211.40 211.40
225 11466(A1E Eth HRAPERATEE X 5 212.47 212.47
226 4005(H 57 &=F Z+HHABTILRVCRX—H5T 5 213.64 213.64
227 11420[F& F E&J\ HoBN—F 54T L—05 E: 21418 214.18
228 10415(F K it S BRAeEFRAEEERT—& E: 214.41 214.41
229 112253 H 5 BEXXX—HE E: 215.10 215.10
230 10988|/NEp fft— BXAX—ER E; 215.27 215.27
231 4225|3x i —BR 7—hAR—YREX—H5T E: 215.71 217.32
232 3432| K5 & ZvF (RACH) E: 216.07 216.07
233 11653| BB # BRI ERATEBR T L5 216.38 216.38
234 10231|db 4 &R (DB MAENERF—ESR [ 216.52 216.52
235 11205{=°;T HAAA J—=ILEO9AREX—H5D E: 216.78 216.78
236 317788tk &= FH# NTTERERAX—E} E: 218.35 218.35
237 10765( KA &3} BRAeEFRAEEERT—& E: 218.84 218.84
238 4429| R 57 HfE— B R{ERT A R —ER 5 218.85 218.85
239 8319|1R:T 5% B 8 MERT At R T —EB E 219.12 219.12
240 8442[1Z]1] 18 HRAPERATEER T E: 219.41 219.41
241 4611[E AR E— F—L Svyia E: 219.65 219.65
242 2495|110 i ZEEXX—9357 B 220.05 220.05
243 11527|4#h w4 INTARR—YH5T E: 220.73 220.73
244 18213 H =th HAAXAX—HE [ 221.53 22153
245 10728 |#HH $EX HRAeEERAEEEBR T8 5 221.65 221.65
246 11229 ¥A 4 Iya ER =HT«EVR95T E: 222.62 222.62
247 3346 |E74 — HHXBE X ERE S AT —E E: 223.03 223.03
248 1621|F 5 Jifﬁ ZEEXX—9357 ] 224.84 22484
249 5503 |#8;R ZEEXX—9357 E; 225.03 225.03
250 11641 [#F3 FH BEAIUTHhRAX—ES E 225.32 225.32
251 10722{d (L 250 RS EFRATEEERT—E 5 228.25 228.25
252 10440(xH &1 Ao e =R AB BT R —EB [ 228.32 228.32
253 11113[F 3+ B8 BHAKR—YRFX—H5T & 228.56 228.56
254 10414 K1F 28K BRI e EFZRAEERR X8 [ 229.20 229.20




255 467[HP & —_—
256 1193[;T/R FIHE ﬁ?rilﬁoii—/]fyjsjj > 229.90 229.90
257 1518]53f 12 F—L Fvia Z 230.19 257.09
258 1435 A F o= F—L = 230.85 230.85
259 10236| X8 &= H P& —55T Z 231.25 231.25
260 1160432 3% Bk RRHeEFRAEEFRRT—1 % 28199 231.33
261 5379] 1A% K b rtheaew & 1] 23151
262 2592 A FT IE 2 2/~ RN D5 2 B 232.03 23203
263 2982 7':% LR S LS—F E 232.72 232.72
s smes iy T — L
6556| A =& S S =L . _
266 6857|EH E& 3;33_\3#[/_7/737 % 235.51 23551
267 8090/ &8 ot —an 3 235.96 235.96
268 5398[/ViS B i = 236.23 236.23
269 6860/N LI BB ] e FTTITE s EZ 236.54 254.79
270 68428 =# 5537_'4%:/7(‘"7517:‘ L 236.63 236.63
271 1880 3R 3t E7L R/ =B FIrDZT 7 236.71 236.71
2792 742|350 =% ERRA—YRF—55T 5 236.80 236.80
273 5359|th & & = TN T LT 3 237.21 23721
274 8490| B == BB AR —YR%— '757‘ 3 237.30 237 30
275 11428]H38 = — % N esinrar—w | 5 23194 237.94
216 [ 10274[ =l Afh e - T 23042
277 118815 2E 82 e e T Y 239.0] 239,61
278 0958|157k 1 NS LR AR B A5 7 241.76 241.76
279 669711l %5 TS e S—— s 242,19
280 1368| 2K RIS UNORF—FoT 3 242.63 242 63
281 1911|pIE8 6= T E 243.05 243.05
262 10685[ /N AB% AR ERAEEEAT B § 34479 24479
3 6080[LLIFH X e R Y= 3 . _
284 805|#H A S %%%%&i_gﬁ E; 244.96 244.96
285 9812|#21l1 B E AERET—55T = 3 24513 28405
286 1645| 5 /F 1F1T UNORFX—H5T > 246.34 246.34
287 | 10780[31.t B FrEE L AERE T [ 22158 25481
288 1065652 [E1h R Rk —P=T 2 A 248.29 248.29
289 11120]F )11 & v L L 3 249.27 261.16
290 10944[32 % B2 N 5 249.63 249.63
291 10943 X H F0&% EERAL—EEL 35 249.71 24971
297 120855 58— BAKBE X LABEAT—5 ; 8 25003
293 3987(RiIH % AR R ,757? = . 250.59 25059
= e P BARBEXERERAT—8 E; KR 26632
69| LA & e T : . _
296 10960| & |l j&— EE—TE:Z/%X—Q[?? 3 251.72 251.72
o 18215 RA S ET U 7523 o7
39[1&[R e} ~ =5 3 : .
299 11587| =38 Bt i;tjﬁﬁg%xjffxé7?gaﬁ pg = ; 253.70 264.03
300 2329tk F0E GERAT e = e 254.26 254.26
301 11056| A R1E BZ N R ,;; 5 3 254.85 254,85
302 11672| 3 & P e = 254.90 254.90
303 52922 H th— e e v - 'E”,;D = - 255.88 25588
304 2279|=BA 3Rth F—L Syia 3 256.50 256,50
305 1179|551 2% XA 3 257.67 257.67
306 11583132 #1% RSB R 5 = 258.13 258.13
307 10951 [7EM IF & Py o Ry T Z 258.56 25856
308 8088|= 3 fH— =FEALT T 3 258.73 258.73
309 9972|7 e {2 KDDIZ¥—557 % 260,58 260.58
310 11800]/M L 2 =] X AL BT ; 260.76 260.76
e e
Jce B Eh =S RS E S ¥ S : :
313 11632305 B A E;E‘Eqﬁ;;g :ﬁ’ignéi_gg 2 262.29 272.33
314 11404 &)1 — & AT R 555 2 3 263.23 313.77
315 3195 &6 NERRX—55D = 263.82 263.82
316 2037|E #ER e 3 265.24 265.24
317 10350( 2 BB HEXXAX—H= ; 268.17 268.17
1S o510 i FRIREE LA R T E: T 273.01
S10[4E3E It BT EREEE AR 8 7 269.54 59043




320 11455|% )1l & BRI FERATEEBR T 5 269.59 269.59
321 11398|IUTF & INEFRX—FH E: 270.75 270.75
322 11615[85K EEEA ARAIN—FS4T L—089 E 270.75 270.75
323 1349(E9 B ZH+BEETILRVRFT—H5T B 271.18 291.07
324 1343[3F 188 HEAX—937 : 271.56 271.56
325 11912|/h#k EE:K ¥ RY 5 271.80 271.80
326 11796[3TEk X BEBER— & L—5 95T E: 272.06 272.06
327 8568|8i K EA HEBEFHAX—ER [ 272.25 272.25
328 6476| 5 R i85 ATa1—EvRRF¥F—495T E: 272.33 272.33
329 10967|#5K EX AHRAR—YRFT—H5T E: 273.30 273.30
330 1166[ L5 %A XTYREF—RAA E; 273.71 273.71
331 5400|551 &% HREEBTABERAT—1F ] 273.85 273.85
332 11328[@A O #B— BERBPFRAEEBRT—E E: 273.96 273.96
333 T7|18R FF| RIOAR) R RX—H5D E: 274.08 274.08
334 11344[18]R BHZ BERXRAX—HE 5 274.45 274.45
335 6656 =48 YA RX—4957 E: 275.21 275.21
336 2638[{FEk k— HBEFHmAEX— E: 276.09 276.09
337 1719(F M ;i 5§ TEtXRXF—ER E: 276.76 276.76
338 75941 A Eif EEXAX—957 E: 276.83 276.83
339 2268|488 K F1= BXXX—EHR E; 276.91 276.91
340 8352|IR A &k AR R A EEH AT —5) E] 277.14 277.14
341 8320|#&F B¢ B R{ERT A R —ER E: 279.36

342 11906[KIE A A BRAeEFRAEEERT—5 [ 279.62 279.62
343 11801 (HEF = BR BXXX—ER E: 280.18 280.18
344 1174125 B8 HRAFFERAEEER T [ 280.49 280.49
345 15(%h =A S5 9D RxX—H5T [ 280.62 280.62
346 11422[5k Z 1 —BA HERAieEFZRAEEEBR T8 E: 280.79 280.79
347 1153358 H &= ATa1—EvYRRXF— ’777 E; 280.81 280.81
348 11694 7R 2 HR#APERATEE R E: 281.17 281.17
349 11534{1F A BEA HREBeSEERATEBRT 8 i 283.49 283.49
350 11139(& 5k K R EERAEEBR T8 5 283.89 283.89
351 7050|485 Jti 7—hRR—YRF—H5D ;] 284.02 284.02
352 110973 BA AHAKR—YRFT—H5T E: 284.46 284.46
353 3126(7&JIl #1 TS5\ L—08 E: 284.48 284.48
354 10809 wii A %%16 BEReEZRAEEERT—E [ 285.79 285.79
355 6457| LU H & ,=. NTTEEREAX—E8 E; 287.47

356 11405\ A 187 INTARAR—=YH5T E: 288.10 288.10
357 11927(F9 %544 HoBZN—=r5A4T L—05 E: 290.22 290.22
358 N77|=5 XER F—L Svyia LS 290.61 290.61
359 110114 BFE RH—XRFX—495T E: 290.75 290.75
360 6405| K5 IFE NERRF—H5D E: 290.88 290.88
361 11674 BN HRAieEEZRAEEER T8 E: 291.93 291.93
362 11495( 27/ EEAER B R E EB AT —Ef [ 292.36 292.36
363 5511|518 KZ BER#BPERAEEBRT—E 5 292.86 292.86
364 1308[;E0 = 7—hRAR—YRF—H5D E: 293.28 293.28
365 11183| A H K#0 BERNeEFZRAEEERT—E 5 293.84 293.84
366 5357[;E K i W BN—b5A4T L—=08 E; 294.04 294.04
367 10239[HHFt B A—IRILT7—IL 5 294.24 294.24
368 11926| 3§ #— W B N—=b54T L= E: 294.36 294.36
369 10705(@+ BF AHRAR—YRXT—H5T ;] 295.00 295.00
370 12068[7k 48 [ HRAPERATEER T E: 295.44

371 11416|YeH FE—ER AHAR—YRX—H5T E: 295.70 295.70
372 11410| S H —1#& BRAR—YIVHIS5T 5 295.97 295.97
373 11119 E 40 RREAPERATEBR T E: 296.55 296.55
374 8807(15%7 £— 1—TIRITLT7—)L Ei 297.39 297.39
375 8318[KF9 —ER YA T4 1TV E: 298.27 298.27
376 11518118 &= EERAX—95T E: 298.46 298.46
377 3087[=H B3 I—TI)L-REx—-H50 E: 298.68 298.68
378 3384 H BiE HEHARAX—HE ;] 298.71 298.71
379 11523(5%5R HI;K INTARAR—YH5T ;] 300.16 300.16
380 5151[5 R & BREEBAT AT —ER 5 301.25 301.25
381 6258|FA i BAIXBE X ERE S AT —E E: 301.63 301.63
382 6180[;EH HE GODL—L v 4 E: 302.24 302.24
383 11586 | =18 X HRAeEEZRAEEERT—E & 303.12 303.12
384 2335[#H K& UNORF—45D E: 304.13 304.13




385 11069[a A & —
3 o = im%ﬂq]? k33 E'ﬁ
367 10768 207 o X T T 2 306.55 TR
38 11100i4H5 B8 A RS o e AT B 2 307.24 307.2
8 11492| K fE #1582 ERBPER ﬁ‘bﬂgj E 30732 301, 4
389 1278| K AR Ha] ONoR XA B B X —8) g 3075 7.32
390 49518 A4t e _—;773 & =4 307.41
391 2540| BLi% 8h fé%ﬁ?_‘ [EESH 5 Sl 323.65
392 10832|# R W& %+g};£x%_’$ 35 307.61 20707
393 9547[f0E& & :i;'fé =% F*sszﬁ BB A5 5 Soa T 307.61
394 2671|175 F.a ;E{‘I:E;;:\:#{ LB 5 30887 308.17
395 1296|8H &4 BEA 257 5 Jou8! 308.87
396 274|811 5k HERRE—1H= 7 S 0538 309.10
397 11378|BhEH &5 i?@iﬂ? — ] 309,89 309.88
398 3690| (FE = /\O;jj l—l%%*ﬁdiiﬁ“ﬁﬁﬁx—‘\:—ﬁﬂ E: 310.07 309.89
399 11462[5F B = %BZX*-—’777 & S 310.07
400 2564| LMt = mg‘& hERATERRT—E 5 312.50 310.74
401 5713[Eh m= BRX—95) i 31350 405.11
402 3010z == —__EEWI//\/Z:!F ES) 5 T 31350
403 11449| B AKX = %‘BE 7)1//\/;(# 557 E: 1468 327.95
404 11908 | H = & ifﬂ FRAEEART—E 5 - 326.51
405 2706[EF* ¥ AAIH A ¥ —E 8 2 315.15 314.85
406 2625|F % F— IZEI;;ki__/Z77 . — 5 316'52 315.19
207 10730[ 51 BE X P el £ 316.50 S1653
408 2827| e A K B— R ffx{gg B R — &R B Sae 313.52
409 11631 |[E48 ;B AER i_?h%}[;;;ﬁ** S8 S 367 3 7.46
410 11018[;F K £&E EQEIE __of\wkﬁﬁﬂﬁx# &8 E; 319.71 1867
411 11956 ILA A5 E#?’\'__;—“JX* 932 5 321.23 )
412 11646 %R = 22 EIX:Z YAX—057 % 32125 321.23
s 1051114 3 2 7] i:ﬁ%nq:éii;g‘;ga p = 32353 32353
eiE LT LS F i i — ) —
415 11130[ /D iE E1R i“% m#:_id? igﬂﬁx;p_gﬂ ] 294 01 31.38
416 11488[3ELL #i e %‘aﬁﬁ‘i SRR - 324.60 S
417 10819[ 1Ll 2E K i:grsﬂiﬁf 2 B5 2 % —Ep 5 oreE 324.60
418 1510|785 Z8h ’f&gxﬁﬁiﬁ?}%ﬁ BB AL —Ep & TIRE 338.69
419 1636[IR A 185 < AX—BH E: 398 325.71
420 8313 =% — 7k FRARAT—HE : 30820 328.12
421 3308 EAII BE i’;;;;?_j __ e T 326.29
422 3621 | EX i?%‘ﬂ]"’ﬁ(’gfzj - A 330.91 28.29
324 10492| = & BEAER i?%{s % —922 [ T3 331,62
25 1776|548 — & o T PR 17kﬁ;§;'§x$ B 5 332.05 108
i e e e 5 332.19 AT
7 11479[ X% X iggr@*i REEER R E: 3300 19
428 7625| & 3 17 = o FREBEHRT—F] & S 333.02
429 11530[ B tL & 1E38 DLy 5 35050 335.36
230 11624 fA08 i Ee %Zf{ﬂ"_‘/ 929 E: 337.17 23951
431 11508| 7T B #&EE T IRAX—95 E 5902 337.17
432 4896\ H — & E #ka_—“/x#—bij‘ B 340'7; 340.41
433 5419[iTF 28 —4 Sya E: - 340.72
434 T1136] /75 K% ;E%i%ﬁﬁf’%%gﬁx#—gg 5 gj;-gg 341.26
435 6142| K3+ BH : ﬁ;'?'; BEFRATEEF— ] 344.48 Jiets
436 11320[$ £ %013k /<§?;;377_ ] = 34448 34443
431 8358] BT 1% A U ) g 24448 96.82
438 5757| X F R& 2= ZIT%*:;ﬁﬁﬁEﬁx#—%ﬁ = 344.60 344.60
439 1973|548 & —AT— ' :
= AR R RS, E; 348.03
Tt IEATSERERIT S | 8 | il uon
A B8 ey . '
442 4143] Bk fii1T igiﬂiﬁﬂﬁﬁﬁgﬁ;{*_ﬂ Z ggggg 920
243 11928[ K18 BA N AN—F AT =S5 s 353.68 35
44 REEAE o 549 L=y ] 22408 3.68
445 11526 =% & /\7/1’77(:3? 557 7 Y 354.08
446 11475/ A H AR5 Z%@j 2732 L] 358.02 356.82
447 2095|487 BX X =15 E—T-M;F B X8 = s 358.92
448 11440[& K £5 i FILRORE—H5T 5 s 359.41
449 7651| S M A= E*%Bq:'?—*ﬁiﬁ(ﬁLmZ:\: e ; : 360.36
- 366.69 394.14




450 11904 ﬁb’* f B S A At A2
452 5031| H g FEXC GODL—> 25 =z 368.67 368.67
453 4267[E30 Sk e e 3 374.54 374.54
454 1169|EH {E— E%xrﬁ—‘yx;—/yaj ; 375.91 375.91
455 572000 24t AEX—F—LTFR—F E: 210.3]
i e R BT PR A B B AT —8 E; 7560 37850
2 JIE—EH T — - = : .
258 TEER o ;?%?:%%Z\g J’{Eg;x#_ . E: 378.65 378.65
259 1141 [ a2 e A B E T R i 37959 37959
460 1141141 S5 A e SRR T 2 382.20 382.20
261 4166|357 F i 2 AR AZ—P>T 382.69 382.65
AR e e D
3269[{k ik B TS ST —R & — HO—>0 = : .
464 1812 &)1 B— e Ty % 388.97 388.97
465 11681 ]IS 1A %Qsﬁa@%&ix — B 391.95 391.95
466 11486 B % A St R =T = 393.15 393.15
467 BT[BIE =5 BAREE X LAB S A% —4 . T 393.48
468 10993| £ & 12 = BEX1 FEZRAET—H] g 394.28 394.28
HEAT—55) 5
469 5746| B #¢ aL\,u I27AN—L— 00 F—14 395.82 395.82
e 1 A1
13505 7t S E—PST - .
472 3924|282 58 %ji;@\i_@%@ L 397.83 39783
473 T1726|5 B 5% B PRk e EEAE z S0 398.65
44| itis]BE & ST EL DU b RS . 39589 39975
475 10680[ZEH ¥ th BERRX—HE = o 3 399.89 399.89
476 1727|8K =5 S o 2 R BT 17<»sn_ e 2 405.82 40582
477 11456] /i B3} = ek (A B T A B 5 407.58 407.58
478 11020[FE B & A SR AT B R —E Z 407.68 407.68
: EHA X17‘ﬁ35m7<* 0 5 409.69
479 2919|/\IE ;¥— BRERAX—me 5 409.69
480 117392 M #1879 AR D RAEEBAL 2 41020 410.20
481 11327[REE HEX B h AR A B B R &) Z 411.28 411.28
482 11118[E T st AR— ‘J77‘/7°/3/ a1135 434.15
483 1912| 0k =38 XA ; 413.82 413.82
284 12056| B A 50 AR RA R EBAT—& = 11384 413.84
485 | 11550758 [ RENEEEEREEEAE B | & o
48 | 11480[ES 5 B AP E A B R TR : L] 41751
487 5071 [SE I Z— ERAX—WEE 2 Z 41753 41753
488 10965| 4@ & x-‘rl—t:"\ylfx#—/ysj ; 418.33 418.33
i NEEES 20 RRE P R A B B H AT —8 Z 42030 12030
77| e - . .
491 11807[1RjF # & /ﬁi‘-k4x€{:\—7y;57‘ > 420.56 420.56
492 11528|(F 8 B % AR 55T 7 421.19 421.19
293 3107 F M E% S € S Z 423.89 423.89
e 12 1
5 11403 A A 15 INTARR— - - : :
496 11683 Tl 125k i%%léjﬁﬁjéé?gaﬁ e ; 42547 42547
497 10372k & AT RX =957 = 2 2 42717 42717
498 33112 M Bf— SRR —E =z 427.56 427 56
299 11063[ ;&30 & F AT AAR—Y55T i 428.64
o TS B2 4 RSB EAB AT & | = 5260 13250
D —_ X7__:L—to“ S — = J . i
502 1439 28 EOEEITy D he= g Aol 43576
503 | 11814[PA A SyFRACH) ' i 438,09
504 2668[/NE7 S B GODL—V o7 = 44105 44105
505 1149485 12 R G Ez 441.58 44158
o e ?E T’g/"ﬂ R BER A AR & § 14353 11353
623| @k Fx 63 = — =5 E : .
508 5360/ 5 5 278 SrrerilaETGE 44456 443562
509 120523l BT 9T E SN 7l<ﬁ;_ijF_¢B 5 444.90 444.90
510 11972[ch il A— Kot aew T o T
511 117193 M L& iﬁ%ﬂqﬂff—&w’éﬁﬂﬁ;# 0 2 24097 446.97
512 11601 A% A e hher w3 A 441.11
513 11451 1L0 & E iﬁ%ﬂnwﬂxgﬁ’ﬁg# me g igg.gg 448 54
= 3 = AL ] .




515 -
517 44 iR #4h i:'?:%“fw‘ﬁ%’%ﬁgﬁx;_n
518 20(EAR —B% R SRR E D ;i 3
11137 Ei B EHIE—F 453.80
B HEHEEFR mi ot H :
520 | TISIEA = AR At z 455.42 1554
11664} B & E T 5= R XX —8 5 456.31 -
522 15 XA EE LIS P R % 456.31
17370501 5 HFEIN—F5 AEER T —E 458.57
593 o] = | B == ,IZ S L—s5 B E: 260.90 458.57
Jﬂf% R%BE:I_ b= A=
524 11805 ;E £ glg{ﬁ i‘?‘l‘%{;:;i’*” K 32 23 A — &b z 461.11 260'90
/. PAES = 7* 3 -
ggg 11708[;EH Ff1E /(524xﬂ-;>iifj17,;§ 7@5’51#—%[5 ; 467.34 42;';1
12081|78 #BA e g ‘ 468.60 '
597 i b S RABEB X = E; 468.60
253 11044[FEH EH St ET T *—& £ 469.15 269.15
529 4046|518 % —ER HAF \—|~3,f§‘] Lmz$fgﬂ (D 469.57 469.57
22 T1134|A%E & 7“3*/:/1')_;@5/—7‘/‘/’7“ g 470.10 :
> 111853248 sk— im%ﬂ%%ea-%xtﬁgﬁ—7 s 471.04 17102
2 10789|FkIE & iﬁ%ﬁ%gsg-*17<igggx*—%ﬂ E: 471.95
11446| KBk FE—F Tt ELT BEEAT—Hf e 472.66 77
933 4892| =3 ah % A i:‘#‘:%ﬁ@-“‘-*ﬁ : 17,:5 BB X ; 47451 47‘2‘.'66
4 | Tias0lfe ik U R T 474,63 1953
11962 |FE& R ' 476.65 '
gg‘; 1266[J11.E EA i:ﬁ%{;j:e;,izﬁfigﬁx*—% § 477.10 47065
531 T1219 T & ET AT Ax ] s 47911
239 LT[ KB RAEESFRAB Rt B > 28023
540 e ;Eﬂﬁ 28] i:‘*‘;gg“ij%gggx#_ﬁﬁn 5 28129 48377
27 HE R FEL 5 o .
22; 11551 |25 A B%ﬁ Ez:p_ypi)g?;iﬁﬁﬁgdg—gg ; 482.59 23;‘;8
2 4128[8RfE 5 & ifﬁ%ﬁ%%ﬁ;*%;’? 2 B 182.59 482 59
I 4545(85 K HE— 7\5>/§‘/-|/_X¢ \ﬁl@ﬂﬁxi‘_ﬁﬂ ; 483.75 483.75
2 11701 [#£7E A 74 w—:/w%"’ E: 487.34 48734
20 1180641 Fl & 5% ¥§%¢$¢§1$t£j; 5 495.63 295 63
T 11756 215 KB /i‘7——“4;<,-|-:_\y,7?’% AE—8 ] 496.22 2496 22
548 117801FF # ST G T % 19500 498 05
2 11712 TG $550 %:I—-: yR BEAF—ah S i 8 298.06
22|/ ZREE ﬁ%ﬁqﬂ"“‘ S = .92 -
ggo T1403|EH K& i:ﬁ%ﬁggﬁﬁﬁggﬁx*—ﬁﬁ ; 504.35 ggi'gé
1 11702 = e B EBAT—5 - 507.15 :
559 il fEARER RBPERAETEH :il L 907.15
Sz | 116970}% £ ;ﬁ%rsnfamx%gagii—ﬁﬁ ;s 0862 ]— 50067
50| A 3 B2 =R ERAE; R - : 13 510.
22‘5‘ 11490 £ % ég i:ﬁ%ﬂc:s;;ﬁ:i%gﬁx*—%ﬁ ; 516.39 512';3
2a 1:193 i B §§%5:35;7*17<%E§g§z—ﬁﬂ E: 212.93 =16.93
478| % B 4 L e : 06 '
997 111 i 54 RAbis 5 F RS ER 5
35|AKH & E N L ERXEX—E 519.40
558 A Ao AR ERAREER Y —F E:] G 519.40
225 11522[ /0% = ﬁégﬂ%%$_&wtﬁﬁﬁ# ER E: 20.27 52027
558 11684[ L1 15 3T NFARR—Y 557 EHAF ] E: et 522.03
561 11782| Pl A Yt TS I i} 22308 523,50
4885|ch T £— et : 524.32 '
- PaLS - > E=3 524
ggi 1147718 ﬁiﬁzﬁ H5 \—If;{j(jﬁ %Eﬁ-?\#‘—%ﬁ ; 930.61 530%?
= 1364 F & 35— i:ﬁ%rs::%ﬁ%t‘ig//’? E: 536.44 '
2o 6707t BAE ﬁﬁﬁ?ix;\—\__‘gégmx*—%ﬁ 5 538.85 53885
2 11821 ik FrB= JIIZIA7ffl 7 544.71 544.71
2 11188 [EIE ;¥ 85 AR e RSt E: 553.95 55305
2 11493 FATED B AER iﬁ%ﬂ%gf?'%xiéﬁéi_ﬂ b 255-05 555.05
11704 [ A7 B8 sl ' 5717 '
570 112 G AR AT EER Y —F B S 557.17
38|dt /A fin Et e S b AR 558.31 5
e e R
2[#NT & ERPERAE; o AF—{p - : .
573 L EX T S RABES E; 567.34
574 114 ISh.E3 E%E, 20 —p?xV(gEEﬁx —5 ; 57027
96|AMH & et eI D - 571.94 5
975 10719| KU @? iﬁ%ﬁgii A E S AT — B = 573.32 671'94
076 6100[ 8 B ZES i—é—%ﬂﬁgkwﬁﬁﬂﬁx#—gg 5 577.22 5§4'21
zIs = 15 2z Y -
g;; 17236 E BE 27\:;_'_/'75§ AR E B B R —AR % 578.15 57;.%
11754| =3 -E'-'-ﬂ E 583.68 -
£ HEPERAT] 583.
579 11497655 jcﬂtq i:ﬁ%ﬂ::s;;%zgﬁgﬁéi—iﬁ ; 286-25 308
SR A AR A E B R — % 588-03 588.03
iy :‘F—nﬁ ; 88.50 588.50
- 593.31 593.31




580 11213| 7% H =& BERAeEFRAEEERT—& 5 594.43 594.43
581 11476[ 07k & BEREBPFREEEBRT—E E; 599.13 599.13
582 11444|HZ 53t B PR AT BB AT —Ef [ 608.46 608.46
583 11705| @A (D2 BRI ERATEE R 5 608.78
584 11682|FH fnE HRAFFERAEEER T [ 611.38 611.38
585 11750 & %k fEth BRI ERATERER T 5 613.92 657.86
586 11896|Fiz & & BERAeEFRAEEERT—5 E: 616.97 616.97
587 11703| P4k BEZR BRI ERATEER T E; 619.95 619.95
588 11709[;BH M ERBPFREEEBRT—E E; 622.16 622.16
589 11722| K% BH B RS EBAX—E) ] 633.29 633.29
590 11119|R —& HRAPERATEER T 5 635.61 635.61
591 11483|h 4t B F BRI ERAEEER T s 639.90 639.90
592 11687|#&H 5= E e N B I H 646.45 646.45
593 11791118 BA HRAFFERAEEER T [ 670.34 670.34
594 11445| B4 1&K BRI ERATEB R [ 678.26 678.26
595 11715|NH & BRI FERAEEER T —E [ 683.41 683.41
596 11716[=F2B A BRhERATEE X —I E: 694.99 694.99
597 12035|;thH [F.5F EREBPEREEEBRT—E E; 705.10
598 11778|E =] fBf5 HREAPERAETEBERAT—EF 5 705.97 705.97
599 11992(=F HJII BEAR BEREBPFREAEEBRT—E 5 713.50
600 11994(85)11 FAER ERAPERAEEBRT—E E; 713.90
601 11038[/ML & HR#APERATEER T E: 716.28
602 11984| A{REE IE—EF BRI FERAEEER T E: 722.28
603 11481[2 KX HRAPERATEBER T E: 733.30 733.30
604 120281138 1&4 HRAFFERAEEER T E: 742.26
605 11999| £ F* BEREBPEREEEBRT—E 5 773.04
606 10954|FH XX 1—IRITLF7—)L E; 774.75 774.75
607 11967 |4£/#k jRaT AHAR—YRF—H5T E: 775.27 775.27
608 11949 K%k 1+ —EA o B N—=b54T L—05 E: 804.08 804.08
609 1201|534 E% BERAPERAEEBRT—E E; 824.20
610 12061(N M 3EE HR#APERATFEE R 5 829.40
611 11685|F8;E 1&A HRAFERAEEER T ] 855.38
612 12062( A # shE HRAPERATEE R E: 862.56
613 12040(F 57 i+ HRAFFERAEEER T [ 863.36
614 12106 R =X BEREBPEREEEBRT—E [ 888.14
615 11752|8 8 BiE EREBPEREEEBRT—E E; 904.94
616 11753[fr A& F1E BRI ERATGEER T E: 918.12
617 11979| K& B4 EREBPFREEEBRT—E E; 937.30
618 1144885 K BE BRI FERATEBR T 5 942.90
619 12015[/M 4% B HREAhERATEBXT—E E; 943.30
620 11755| =8 A& HREAPERETERERAT—E s 945.70
621 11732|#8H ®F BERBPFREEEBRT—E E: 950.10
622 11883[F &5k BRAeEFRAEEERT—5 [ 960.79 960.79
623 12022| &1L Kith BRI ERATEBR T L5 968.48
624 12075(B] &6 1ILME HRAPERATEE X E: 1001.66
625 12036/ A H B RREAPERAETEERAT—E E: 1012.44
626 12045 ILK 48 HR#APERATEE X & E; 1012.84
627 11815| Ak KiE BRI FERATGEBR T E: 1015.61 1305.35
628 11728| = E& HREAhERATEBX X T 1041.35 1041.35
629 116981133 %t HREAPERETEBERAT—E s 1053.22
630 12059168 H 2 BERBPFREEEBRT—E E: 1058.40
631 11986|#0H #i BERAFFERAEEER T E: 1066.00
632 12032| &k KiE RERE PR T E R R —Ef 5 1100.78
633 12031[/M1] B B R ARG EBAX—Ef E: 1113.96
634 12048[FE % 1B EE e N R R E: 1119.96
635 11995| 548 FAth EREBPEREEEBRT—E E; 1129.14
636 12041[{#F F£X HREAPERAETEBERAT—E 5 1139.14
637 11730| @ &R K0 HR#APERATFEE R 5 1143.94
638 12088 H & B PR AT EBAX—Ef ;] 1167.12
639 12027/ 8 & B ERAEEBE XX —E ;] 1173.12
640 119913 R KAk BRI FERAEEER T i 1207.08
641 12053[LLUF fntE BEREBPERAEEBRT—E E: 1213.08
642 11980|;E 7 BBk BRI FERAEEER T E: 1232.26
643 12025( B 5 {245 BERABPFREAEEBRT—E & 1249.86
644 11987| & H L5 HRAFFERAEEER T E: 1251.44




645 120343 T— __
646 12009 eiju iliz = R AR PR H S B R — E
647 12026|BEA T — R R R AR A R B B B A T — & Z 1263.44
648 12012| 2 R A i:?:%“':ﬁﬁ"ﬁmjlél:ﬁﬂﬁx#—%ﬂ : 1302.20
649 120172 & A E R AT AR — i g 1351.76
650 12019 R 3R AR R A B B AR T8 Z 1359.36
652 12043[7E K85 BB A B 8 B R — B = 1390.54
653 11735| A F 205 R ED A K B B B A 2 1400.12
654 12010 B4 e R A B S B R — 8 E; 406 55
655 12013[1LA A i:?:%ﬂ[:'fﬁﬁﬁbiﬁﬁgﬁx:—\__%ﬂ 2 1406.92
656 12153[J\ K 1= RRBNERAE S B AT g 1413.32
657 11734 X5 i E BRI AR A B B X — ] = 1431.70
658 12046| E1y 5 iE%BE:E?J*P(%ﬁEﬁZ:\:—‘EB 5 1472.06
659 11487|%2H B E REE PR AT EER T —8] - 1478.06
660 11751| K3Z B RaHERAE B AR Z 1541.22
661 12042[)11F EX AR RAE AT 7 1595.16
662 12002[Ff /1] % R AR P ARA F S B R — E: 18252
663 11983 ffq;ﬁ *’EE ii%ﬁtjéﬂ*P(gEEﬁx#_%B ; 1779.02
664 12055| B8 =N R A EBAA T E B X — i & 1792.60
665 11981[f 8 #X B R AR A R B 2 A T — 2 1811.38
666 11982 &0 85 & 3F R PR A A B RAT = 1824.58
667 120043555 %iﬂﬂ ii%ﬂtﬂfﬁﬁpqgﬁgﬁx#_gﬂ = 1843.76
668 11993[FE A =o At R ED AR R B B B A — = 2166.70
669 11678 dL4T 24 ARG EAAT 2 2233.04
670 11693|85 K f21E B S R R A B B B R % 2425.28
1306| S /= #0Ih ?i"%ﬁq:%aﬁ?(’%ﬁgﬁxz\:_gﬁ = 2571.56
7672 B B— Eﬁ—%ﬁﬁﬁxﬁx*—%ﬁ 5 2740.22

7408[HA F5ar Ellfilzj FRTA R ¥ —&0 =

12101|# @ Z= = SRR R T —EB =

3219|H %E ZIJE)L;UF—’J??: £

10983 H & ¥ = AR %i ll;ZﬂF—avj 5

10985 ZIE B A iiﬁﬁﬁij_Eﬁ Z

10986| %k E& th iéﬁ,ﬁﬁxﬂe—nn Z

10984 R 2 iigﬁﬁij_Eﬁ 5

10683 A% 1% =2 - -

8311|180 HE iixi_{7>777 5

2609| % H 2= i:‘?‘;;{:;—“/7>757 5

11952| %111 3R iix' —IRVH5T s

10285/ E51E A& i?:xd;‘_—‘:{jgbij‘ 2

121595 & 1B fE i?ﬁ“g%;‘z'gﬂ’éi&'ﬁx;_gn =

12160| ¥k & i;‘?ﬁ‘“g#f;ﬁxgggx#_gﬂ 2

12085|/7U i:‘?ﬁ“_@%:z';ﬁxgggx#_%ﬂ E:

12086[#{R 21F i?ﬁ“g%ji'ﬁfﬁﬁéﬁﬁﬁx#—gg T

121241k 62 i:‘?‘;ﬁ‘g%i'gv:gggﬁ;@_gn =

12004/ A SIS TS T EES B

11885|#% LT i:’?ﬁ“_@*ff‘yﬂﬁﬁﬂﬁxﬂe—gn &

11882[ BT h2k i:?:%“@-%fi'fm’éﬁ%ﬁx#_gg 2

10411[JEF E= i?;%_lzl_#i'ﬁ?(’%ﬁggX#_%ﬂ =

10410[=48 #o/ks i:?%“g%;:'gﬂﬁﬁa-ﬁx;_gg 2

11978|ch4¢ 1% —ER i;‘?ﬁ“_@_%igxﬁggg;g#_gﬂ £

12080{ N HH 2 XA} i:?%“g%;‘fgﬂ’éiéﬁﬁxﬂF_gg i

11820|JI|H EEth i;‘?ﬁ“_@_%fz'@xéggx#_%ﬂ ;

12078| %5 [ AKX i:‘?ﬁ“_’j’_*fi'@ﬂ’%i@?&Z#—g{; E:

12079[/M#5 BA R i:‘*‘ﬁ“g%i&yﬂ’%i@mx#—gg B}

11129} Hig i:’?‘:%“g%i"ﬂﬂ’éﬁﬁﬁx#—gn &

10717|H FEAER i:ﬁ“g%jﬁ'ﬁﬁ?“ﬁﬁﬁﬁ:@—gﬂ i

11443| 11L& 3% B iéﬂ—f—#i-@xﬁﬁﬂﬁ?{*—%ﬂ ;

10830[ Tk A & i?ﬁ“g%jﬁ'@?(’éﬁﬁﬁx#—ﬁn 5

11894[BAEEZ 2P i?lﬂi’_%ffﬁ"%ﬁEEx#—%B B

12127| K & BEX i:?%“g%fi'g?(’éﬁﬁﬁx#—gg &

12130 &8 ;& i?:ﬂz’_%ff@"’%ﬁﬁﬁx#—gn B

118957 K E i:?:%“_lzl_%fz'sfﬁtﬁﬁgﬁx:\;_gﬂ =

12132[RE 4 B2 i:?:%ﬁd'j’_%;‘f@?"%ﬁﬁﬁx#—gn E

12129| 278 1 ER iagﬂ—f—#iz§1xﬁﬁﬁéx:\:_gﬂ ;

REAlEEFRAT EB AT —ER ;




1790[f2R F01& HEARZAX—HE
2258| & HA HAARAF—HE

10833|FE =& BERAeEFRAEEERT—& s
10834| Bk —th HRAeEEZRAEEBR T8 E:
121313t 5 ig%‘r%%ffﬂﬂﬁi%ggx#—iﬂ 5
- J'_=Il.'.~ N EH‘—E -*7( 1 m — J
R 231 S tire i Ete
12126 fRED Fh i AR e R A B EE AT — 5 1
11588[E & At AN e R R E B AT 5
1189238 5% AEB A e RN E RS AT 8 1
1212831 B ALR AN EEERAE B AT 5
11887 B & 1% 31 A e RN E R AT 8 ]
11485| K #E—ER i:ﬁ%ﬁ%%ff&ﬂﬁiiggx#—ﬁﬂ E;
T E §E Rl EFRATERR X —
o il i res
11827 =3l BE Ao e SR E BB AT 5
12083| A 35 &7 AR e R A B B E AT — ) 1
11829 FE BE— RS EERA B B AT 5 i
12082/ 1| fiiE AR e R A B B E AT — 5 1
12084 ;‘_ELE zi ;?E‘%E%Eiiﬁﬁ%gﬁxi—iﬂ i
11830 BEA RS EFRAEESERT—
12003/ {27k 155 iﬁ%ﬁ%%ff&%ﬁ%gﬁx#—iﬂ 3
R OR— Rl EFRATERR X —
HEILEETN L e AN
12161| 2 H $15 A e RN E R AT 7
12162 Eﬁl &4 iﬁ%ﬁ%%ff*swﬁi%ggx#—iﬂ 5
EEEi L] :.: E_ FRAE] i — 3
RICE fiiTi i e
12135 ﬁf;‘% ﬁﬁi ;ﬁg&%%ﬁ&vﬁ&%ggxi—iﬂ g
12163|ILTF X RAeEEREEEERAT—E :
11764| ;T &K HRfleEERAEEEBR T8 5
1848 Eﬁﬂé /\E%xi—i%ﬂg 5
5108|= ™A F INEFRXT—ES W
2443|385t — KER INEFREZ—EH s
2573[38¢ | BB INEFRX—ER 5
5109[F0H A INEFRF—EH E:
970[F K 15 JVYTFURRE—RIA 5
6202|EH EZH VY TFURRE—RA E:
5335(LLF Eh JVYTFURRE—RIA 5
12095| @ fiF =ATAELRI5T E:
10226 [#EF 1% 12 =HTA4ELRI5T 5
11792[ M E &% ZHTAELRI5T 5
12096| RE 258 E} =ZHTA4ELR95T s
10223[4F 7XZBH =HTA4EVRXY5T 5
11786[)1[1% £ HHAXAX—HBE 5
117853k {2 HARXRRAX—BE 5
3070(F&E Rk T HHARAXT—HSE 5
3001 |15k 2 HEHARAX—HE 5
12097|453% EE HAXRAX—BE E:
4088|{kk HHX HHAXAX—HBE 5
11370| 5% #ER HHARAFXT—HS 5
2
Ez
5
E:
E:
E:
E:
E;
E:
2
W
2
E:
E:
E:
Ez

1387| 2 H SiF HEHAXRAFX—HE
1938| F1F Eth HATZILRVRX—95T
4372| F17 B2 BARZILRURAX—H5T
3900| FiF H& BAZILRURAX—95T
6692| = H F BARZILRUZAX—H5T
3656/ kFH KAt XXX —ER
10515[BK & PR XF—ES
12104830 #8= XXX —ER
11939| =¥ FEHA RRETABERAT—EF
2820(¥0 FAI HREEBTABERAT—1F
39041l ® BXAX—ER

1321|% K BE&E BXAX—ER
11797[ K& BAER BRXAX—ER
11798 K #BA BXAX—ER




11642| 1Rk tth Y35 RX—957
6926| = IE FE & Y F—=GRX—4957
6771 ILA XE EARAX—ER

M| EF Bz IEXAX—ER
2018| FIH #1R IEXRAX—ER
6582[/NHE ZF IEXAX—ER
3337|/N R % IEXAX—ER
5261|/MEFH £t ,Iilzx#—a_m
7123| A1l SEif ,Iilzxﬂ?—;_m
762080 Rk SIRERAT—ES
3272|7FR i I—TIL-R¥—-H950
4079| RiE B I—FI)L-R¥x—-495T

7504 KK IEsE BXAX—ER s
251| B4t BE BXXEX—ER 5
24 & AR B EXXT—ER ES
7157/t B BXXX—ER 5
8271|%E 1k B BXAX—ESR E:
IRINVEEFS BXRAX—ER 5
8267|f=H [ BXXEX—ER E:
11802[1L 1= BXXT—ER 5
5821|418 15 BXAX—ER 5
4226| e EH BERAX—HE s
12140| 5715 & BREXXX—HE 5
8543[5E A 1ERE BRERAX—HE 5
10974 /638 % BRERAX—HE 5
11379[AF F£= BEEXXX—HE E:
2453\ B2 BRERAX—HE 5
1275 1L Rk BEEXXX—HE E:
8377|885 K FEAXER HRAEHARFX—H5T 5
7849 K& 84ift HREERT—{EEE E;
5145118 BB XXX —E 51
9143|JIIE % IEtXRRAFX—ER 3
10957 |Z5k Eik ETXRF—EH E:
5144|ch 4T =4k EXRRF—EH 2
4306| 4T XA X—ER 5
76337 H B H ETXRF—EFH 5
10106[ /07 1HIR SITHRF—ES 5
5772| Kk X SR —ES 5
2482| ik EE M) REF—ER E;
6979|5788 FA MIHRAX—ER 5
2146| 5 FH R NTTERZEAX—E} 5
2715|%TH % NTTERERAX—88 5
7872[d ¥ —1F DY)RBILAF—H5T 5
11781[#E[R =3k IJ—-aL5—FK 5
10373|%7i% AIZB RIOAR-RT7H5D 5
3264|5:% K FIVEFTTIL—T b1

10249|F Il FX A/ —9AVERXT—H5T 5

2766|EfF A BR— ZEhRAEX—ES 5

1236[;R IF 4 —EHRE—ES 5

5766[E H EF =EHAT—ER E:

3464|128 M = AR FOILRX—H5D 5

19832 R # ASO—LAFX—H5T 5

3981 (BT &R &= ASO0—LRA¥—495T 5

6853|fE & ZZER A5O0—LRA¥—495T 5

11376|F1E R 12 ASO0—LRA¥—495T [

6471 £ AS5O0—LRA¥—495T 5

12139[EE[E (5 ASO—LRAFX—H5T 5
4152|Fph B A ASO—LRA¥—495T E:
1546| AR mth A5O0—LRA¥—495T E:

12138|B Lt A ASO—LRA¥—495T 5

1180 B1E A50—LRA¥—495T 5

2519[4af FH= ASO—LRA¥—495T s

6852| & ASO—LRAF¥F—H950 ;

E;
E;
E:
E:
E:
E:
i
5
i
E;
E;
E:
E:

11084

A £

B ERE®—957




6657 =% =EA HEBFHAT—ES s
7161[BI% 3 RBEEHAT—ES E:
4297 E— HEBFHAT—ES E:
11437(FH1L BfE— FHHFEREEAZILERF—DE 5
11231[/MgE EARER HEEXF—95D E:
1918[EEIH FE1# BERR*—H57 ‘ 3
2831 |1E#k AA D—TIVARXT—H5D 5
2782( AL 1ET] Jx—TILVARX—H5T 5
4553| K87 = RILR-aL5—FK 5
1427| 2 H FAM FILR-aLS5—FK 5
9332| B £ & RILR-aL5—FK 3
2030(LLIEH E& RILR-OLS5—FK 5
11086 (7% 3 #hif ERAFTRXE—H5T 5
11226[3 3 @A EVEFRE—HSD E:
6370| R I} 3% 38 ELEFRFX—=D5T 5
5258| E #3 —#i ERFRX—H5D E:
11669[=:ZE KX ERFARE—HS5T 5
1380| B H NE KDDIR¥—4957 E;
8307| &L &2 KDDIRX—457 5
2894 A 1T EEXRX—95T 3
11516[3H R & EEXAX—95D E:
5248|/MNEF R BEA EERAX—95T 5
7186|/NEE &= EEXX—95D E:
2116 H 15 EERAX—95T 5
5254|dtiE fii EEXX—957 5
2897[iE =24 42 EERAX—95T 5
3338[H Il s&EXR EEAX—957 E:
5247|%f E Hth EERAX—95T 5
11644[=Z Eth Ly a-RE¥—4957 5
11643|FF ) Ei& Ly a-Ax—5957 5
10977|ZBF01H 4% )5 1) —R*¥—90—7 23]
1191040 L Bs IS5 i) —R¥— Ho0—7 s
217 FH S DIRZ AX—957 5
8682|f2H {HX FemAXF—EY E:
489|FRZE = XTYREX—RA 5
1405|% B XTYREF—RAA 5
2179[4H RIE XTYREF—REA 5
5096(1% &K BEXRAX—HS E;
14553 0 A BERXRRAX—HE 5
10351 3R O AR BEXXX—HE 5
1917 |15 E=5 BEXXX—HE s
1844(HG FHEH BEXXX—HE 5
4068|57H B2 BEXXX—HE E:
673|388 — & BEXXX—1E 5
134|538 #ER BEXRAX—HE 5
3959[EIE FA& BEXXX—1E 5
10320[#E;E E1h BEXRAX—HS E;
11909[#3R FEF BERXRRAX—HE 5
3872[H s —F BEXXX—HE 9
103683k B3t INETRRT—ER E:
1596|/\HH 1*'* INETRRAX—ER E:
1598|HBH & INETR R —ESR 5
6535| &R 12%— INETHR X —ES 5
7806| &35 HEEk INETRX—ER E:
2572| A&} 3 EE 2)—R¥—957 E:
4948| K& 5 & 2)—R¥—4957 E:
4949| R EB ER 2)—X*—957 5
1201[#H &8 LERX—H5T 5
3093[AFH Al 2047 -— 5 )LyxX i
218|EH # HAEHAT—ES 5
3975[ KA & RATAT—ES ]
4858|1& 1L B th BHR7ILLARAT—H5T 5
11610[4& 7% 1 O XRX—495T 5
8853| 5 F It BRI AE—ER 5
10996 | #F#I £ —BH BAILHRE—ES E:




7490 | B Bk fli— BRI RAEF—ER s
3994 |FkJE Zh A ILHRE—ES 5
5898[ -+ ZHER BFILUTHREF—ER E:
4162|Hh B & AR/ =By 57 5
12148|#R 55 HEAX—937 E:
5386[IE ]| & HBEAXT—9357 5
10715|5H EX HEAX—957 E:
10096 | 7G5 K1E HBEAXT—9357 5
1342| L0 & FBEAX—957 5
11816|ZFH Kt EoFmAXT—ESR 5
7046(28 B IRTYL—05 5
9971[=#8 Eth R—ILRA—RF—H5T s
8393| 5 H & ZEEXX—9357 5
1610 %7 iF#c ZEX¥X—9357 E:
4092| AFNET flith ZEERXX—9357 5
1430| [ H —# ZEXX—9357 E:
11652 H &= BEAX—HMRE E
11337|.EA B2 HELHFTRAF—DU5D E;
12154| 511 £1= NECHF & X —f E:
2452[ A& &8k NECKF XX —&f 5
3080 LLIIKF B NECHFHh X F—& 5
5769[;EK #F1T BEUHBT A —E8 5
11616[%78 =N REEBATAX—ER 5
1849|fAI &R 1Rk KEXZFRRAEF—E 5
7602[FH FH KEHRXEFAX—ER 5
8317:=8k &1 KEXZFRRAEF—E 5
2836|/NE7 &1 KHERXEFARAEF—EB E;
72993k 41 BH KERXZFRARAE—E 5
5773|457 Bi T KHERXEFARAEF—EB 5
2834|FR H KEHRXEFAX—HR 5
2817|781 IE KHERXZEFARAEF—EB 5
1092[FFHE = KEHRXEFAX—ER 5
6426/ £ 8 & KEXZARAEF—E 5
6430 LI ;Z AXAXERAT—E E:
792[iEER B KEXZFARAEF—E 5
71241k 2R —IL-95T E:
6282[;&FK & —I)L-H5T 5
3179[IEA —== MAXIMUMR ¥ —F— Ly E:
5709|#HE FAI MAXIMUMR ¥ —F— L 5
3314[k O #% MAXIMUMAR F—F—L 5
11959| X8 1L F MAXIMUMR ¥ —F— L 5
2647|418 E BAIARIURAX—H5D 5
11627|EH & DA RRF—H5T E:
58205 H B E BARIZRARX—4H5T 5
9214| |1 ;F1E BARI=ZSRRAX—4H5T E:
5072|)1I1X E# BAI=ZRZAX—455T 5
3681|785 {£ER BARLI=ZVZARAX—495D E;
7104| 4 £8h BRI=XZAFX—H5T 5
3972|#{R 018 UNORF—45D E:
1298|548 /\ic UNORF—4H5D ;]
3023| R EF =1 UNORF—495T E:
2990(h 87 HE UNORF—4H5D E:
1106[{¥F <F UNORF—4H5T 5
127[ K8 FA GODL—Y 24 5
2832|857 —HF GODL—I 4 5
10517]/\ ik S 45 GODL—Y 24 E:
550|85K = GODL—I v 4 5
2039(dr )1l 24 GODL— 4 5
1988 == GODL—I V5 5
1241815 5 GODL—> 24 5
9906(# HH GODL— v 4 i
199|[8 &+ GODL—I U4 5
9005[MAK "E GODL—L v 4 E:
10999| = EE B GODL—I VY 5
4234|EA L8 GODL—L 24 E:




809| I & & S. C. aAkRvIIL 5
10259[;FFt £ 3 FHTI—RF¥—957 5
2382| &R Hth TFHTI—RF—495T E:
3631|1ER BEE FHTI—R¥*—957 5
215|B&H N E FHTI—RA¥—495T E:
9114[B K ZKER FHTEI—RE¥—95T 5
2269k X i ABAARX—H5T E:
6468[#A7K BBk ANAAREX—H5T 5
9975|EK % RIOARN) RO RFX—H5T 9
7639[#H A F— RIOAR) R RX—H5D s
5028 |#TH hHFRX—957 3
6688| R+t # INEFHTHRF—ER 5
11373|F B FO—R¥—957 5
3287[#5K EF ¥ RY E:
11819[JII B 2 ATa1—EvYRRX—55T 5
11818 F R £ 7] ATa—EvrRF¥F—495T E:
8329|tHE BF ATa1—EYRRX—55T 5
6478[8EN E A ATa—EvykR¥F—495T E:
10105[=E H B4 ATa1—EYRRX—55T 5
5208|572 FH#N ATa1—EvYRRX¥*—H5T 3
141[#2A %R ATa1—EYRRX—55T E:
1264[#2 % 12X ZHHABTILRVZRXT—H5T E:
3991|%Eik B —+HABTZILRVZRX—H5T [
10979| EF & —H+HEETILRVRFT—H5T 5
10655| A fE #X —F+BETFILRRE—H5T E:
10270|#1H %% SATRXT—H95T 5
25074 A BE ZEHAT—ER E:
5190|EH &i& ZEHMAT—ER 5
5364 EH & ZEHAT—&ER 5
2505|321 & ZEHMAT—ER i
7755|%EE & REEBRE—HSD 5
6205|#EH IEE BILERAKRFIA—IL s
9341|nnfE 8 INERRFX—H5T 5
3611[;EH & NERRF—95T E:
6404| b ¥ @I NERRX—95T 5
2213|8)I| & INERRFX—H5T 5
38808t & & NERRF—H5D 5
3877 K EL INERRFX—95D E;
6146|=EH R 59 HRX—H57 5
413\ MNE TB— D59 RX—H5T 5
6700| AR Z8h FANAX—H5T s
12189(ZFH 4 BE FARVAFZ—H5T E:
7024[{R3R T T AR AX—455T E:
10962 [EF B4 BAL—L U9 RFX—49357 5
4000|h0pk X BAL—L U9 RF—95T E:
3249[Mx X E & BAL—L U9 R¥X—95T 5
10963[5H X% F—L Svyia E;
121364 8K F—L Svyia 5
3078[&kH #UE F—L Svya 5
2273| K¥t B— F—L Svyia 5
1722[EK H X F—L Svyia 5
JANEIL TS F—L Svyia 5
7942[i= 1L {7 F—L Sy 5
753|811l £= F—L Ty LS
3299|#k 1T F—L Svia 5
4612|f2 5 1E 8 F—L Svyia E:
3101 | B 2 F—L Svyia 5
6671|4f F % F—L Svya 5
22751 =& F—L Svyia i
3526| % H % F—L Sy 3
11066{LLA §E& F—L Svyia i
5234[;AH HA F—L Syl 5
696|#8;R AE FS—LRAX—H5T E:
7500(F & SR F—LAX—95T 5
6466| %k BR= FS—LRAX—55T E:




11794 ERE FE Fhy—F - —H)LvT 5
3134[8k WA =& HBEFRURXF—HE 5
10241| =% #— KB URF—BE E:
4546| K E EF FAINL—00F— L 5
11916[40)1l EX FTAIL— 0 F—1Ls [
5817|mJIl EA FAL— 0 F— LA 5
5115|/ML BARE FTAIL—0 0 F—1Ls [
1789[:5 7K &5 FANL—20FF— L Bz
8413|F H FAIL—0 0 F—Ls T
8186| K% B % o3 —R¥—49357 s
6387| K Fx Stk o) —R¥—957 5
2491 (BT &R SR 7 TS5 L= ]
6359 |FE[R FE G35\ L—08 5
7354[ AL #H— TS5\ L—08 5
4039/ M ER & TS5 L—08 5
11657 & —4 TS\ L—08 5
6856|%H E5 TS5 L—0y 5
3113|HP % TSN L= E;
5551(Fa )11 32 BN =208 ]
3100 H it G35\ -L—08 3
4054|118 "2 G5\ L—08 3
3250| LA ATl TSN\ L—o2 5 E:
2520| S5 BA TS5\ L—08 E:
5818|EH Hi& AHTRF—H55T 5
4325|%2 K BRR RRIAHNIT7—RARX—495T E:
9468|JE#L f=AL REIAHT7—ARX—H5T 5
9467|#& 1L 5ARRE BRIAHhT7— x#x# 957 E:
11945[# 25 FHEXXX—1HE E;
347(12H BE FHFRAXF—BE 5
1973| &5 H i 7—hRAR—YRX—495T 5
4883|452 ZEB 7—hRAR—YRFX—H5T 3
4884|KJIl —ER 7—hrRAER—YRFX—H5T s
361|300 5h3% 7—hAR—YREX—4H5T 5
4327(5 B F|z 7—hRAR—YREX—H5D 5
2494| 8 = 7—hRAR—YRF—H55T 5
1805\l fhk 7—hRAR—YREX—H5T 5
6317|151 H5 AX—I)—H2R-H957 3
4055(¥& IE5h ARE¥—JY—D X957 E;
5162|[E & % /=R 94K RX =957 E:
11609[ KN FEX J—RA 94K RX—H5T 5
3910/ EH E A J—RAI4E RX =950 5
3552[FFH FiR J—RA94 K RX—4H5T 5
4386|FFH IE# /=R 94K R¥X =950 E:
1243[F8R =KX J—RA94 K R¥ =957 5
5513[iEA FHE RZHRITIHERE— [
146| EA wE DU RE—455D 5
2635|FE 1| —j@ FOWRF—H5T E:
11386|FH #lik HoBN—FrS4T L—05 5
11929 KB # B ABZIN—TZA4T L= 5
10261 [+ ER A B IN—=FZAT L—0F 5
1269[/N2 HEIE ABZIN—=TZA4T L—05 5
3257| B4 2 A B IN—=FZAT L—0F [
4017| K*f E# W BN—=brSA4T L—=08 5
110912 H HH Ao BN—bZ4T L= [
2400|/V3R #A B N—=brSA4T L—=05 5
12176|#81x &3} Ao B N—rZAT L—05 E;
11043[3x #F1E HoBN—FrSA4T L—05 5
11930 1%k ;B W BN—=bSA4T L—=08 5
12180\ K= Ao B IN—=bTZAT L—0F 5
12179 &3} ABZIN—=ZA4T L= 3
4050[# 8 EX Ao B IN—=FZAT L—0F ]
12172[1ER & ABZIN—=TA4T L—0T 5
10277| &% % AW B IN—=rZAT L—=05 [
4893[E A ¥ B N—=brSA4T L—=05 5
11392 f’** Bl Ao B N—bZ54T L= [




12069

10537| 548 1 & ABN—FF,4T L— 5
11933EN AR 73‘/5!“/\—::;:((; t_:’~“'§~ z
3851|F % £— hoBN—F54D l/—~‘/‘//]“ z
11960 FP 4t 1Ly TH Bh HoBN—br54T L/—:/{ i z
7835| P —iiE hoZN—b3547 l/—jjg :
11936/ & 11 = ABN—RF5AT L= z
1(1)34712 zﬁéa? B hoBN—F54D I/—;;/J“ ;
g B— A B IN— 4T L—05 :
6864 ;'MK il HhoB \—h;:g‘ t—jjg .
6867|S—F~ —J35 B N—=bF4T L=0Y ;
11932| =#f EARER ABN—FSAT L—05 -
11346 LA B R S ey Ry %
1322|555 — AR A B N—r54T L/—;jg >
T1971[BHE BA AN T L5 >
11784 | {ik == ZAX—957 i z
3292| 5 R & # ZRAX—957 :
26847 F5—EB ZRZ—957 -
2164[ A1 BB K. S.C :
5776|;E &} S5 Bya—-R¥—557 i
bl S V: *—037 E]

11968[¥A%T = — Ef RF—Z =5
T —ARX—95 E]

11010|#A % B3 RA—RRX—95T
11680[ 3 3 AT ERAEBAAL 0 :
11985| LI 5] ﬁﬁﬂmﬁ&mgﬁ$x$_; 2
11686] - Kfh iﬁ%ﬂtﬂé‘g;*pqggﬁxz;_ig Z
11989 &% A e A B A E Z
11691 | Bl ZEF i:‘?‘:%ﬂhéﬁ;ipqizﬁxx_ EB Z
11998| K=E% A i:ﬁ%ﬁtzéaaip(%zig;x#:;ﬁ 2
11996 BIF A e e =
11997|H#f K— RRBPFER T 2 %
2} - REPP AR T ER R T &
12007 /51| 2k BT AR B AT 3] ;
12008 |8k FH £X i:ﬁ%ﬁrﬂfﬁﬂﬂx’éﬁgﬂgx#—gﬂ z
12003[ X+ HE= e M AR E A _E 7z
12000]BA 1 R ET IR B m il %
A S AR R AR & B R —i) E
12005| 787k 1E A&t e A B R E '
12001[EXR & X i:ﬁ%ﬁc:éﬁ;%xifg%;(#_iﬁ Z
12006|#1H 8% i:-%-:%rs::egmxigﬁﬁx# il Z
12014[3H3iR X ﬁﬁ%ﬂtﬂfﬁﬁp(gzﬂ;{#:;‘zﬁ =
12018 F1E 22 St Taa TS i pe= :
12016|%& 78 HAER iﬁ%ﬂméﬁ;ﬁp(ﬁ‘ﬁgﬁgx;\—__gﬁ =
11707\LF Bk Rt EET SR a Z
= REB P EBAAE E B R+ —Ef E:
12021[f6E B3 R AR R AT ] '
12029[)114% 24 i:ﬁ%ﬁtﬂfﬁwﬂ’%ﬁ;x#—g >
12030] & BEELER ﬁﬁgﬁczfﬁa«*17:=‘:‘$$7\¢_gﬂ Z
12033[&HH EX i:ﬁ%{;c:éﬁﬁp@%ﬂﬁ/-(#_iﬂ >
12039 X7 559 et e R REA T o Z
AZE RE P EBAAEE B R+ —Hf =
12037/ 2 L1 # e R AR R A 2] '
12038 LLIE B e AR B R E Z
12044|F E 25 RIREAPFR CET o z
! REPARATEFRT—H =z
12047 1A J2+ BN A R B AT —8 '
11733] &7 15 ﬁj@:ﬂc:éﬁ;&p;%gﬁﬂxg—\__iﬁ =
11489 | H JH/E E *J‘hg!g L =
12 = o :'?: FXP(ﬁJEmX#'_%B ;
049|fHiE EZE E Bt s Nt =
=5 b PR B & B A —] EZ
11740[1 3¢ TR AR RAE BT A& '
12054[#04 A 4 e R AT 7
A X ES AN ERAEEEAT 5
11759|# &= ﬁ]ﬁ%ﬂ::éﬁ;{gpqﬁ‘ﬁﬂﬁz:\:_; =
120637538 HE iﬁ%ﬁ:zeamxiﬁiﬁ;@_iﬁ %
12067 @ BA St CE LS T RED 2 =
12060|FAF gl i:‘%‘:%ﬂﬂfﬁ*pﬁzfziggx;;:gﬁ =
12057[#8K & A et CE TN ol z
] REPARATEFRT— 3

120662 7% RSB AR B R
12058 #H{E 36 2, Tyl L s >
1; 773|hE A i:ﬁ%ﬂrﬂééi*m’z‘ggﬂgx# EE ?
S L — AL — 8
12065 E R X RRBTER A E B AT 8 ]
=TT LS EEUS T EES 7
— R 7

E:

£E X

u]

T

EE L

N ELE B R —Hf




12070| K& EE T RRAPERATERRT—E E:
11232(1lLA F1E i%ﬁ;:#%ﬁmx# 957 5
3391[/ME B A BHAKR—YRFX—4H5T E:
10689|/\; 8 E5% BHAKR—YRFX—H5T 5
6124[/NEpF & BHRAKR—YRF—H5T E:
2489[/ il 1BE— AHRT \—‘JZ:’F 957 5
11977\ /0E% 1BA AHRAR—YRFX—H5T 5
11504|5 %% B2 BHAKR—YRFX—H5T 5
6796[tH A HiE BHRAKR—YRF—H5T 5
11117[ARH %5' AHRAR—YRFT—H5T 5
11668 [T #K M a #x,-\—uxﬂF 957 3

934[EJIl IEA BHAKR—YRFX—4H5T s
12150|#4)1] BB X EHRAR—YRX—H5T 5
11966| = sh2z %k BHAR—YRXT—4H5T E:
12143/ML R A HRA \—‘17\# 957 5
5180[3r O %01= AHRAR—YRFX—H5T 5
7820|1ER LK ABHAR—YRX—H5T 5
5177|5%1 &R BHRAKR—YRF—95T E:
12149[;FK thf BHRAKR—YRF—H5T 5
116514t A & AHAKR—YRFT—H5T 3
2221|853 K BEX BEHAR—YRXT—95D 2
11667 |85 K ZEAER A #Z/‘\—‘JZ=\'— 957 E:
11381 |85 K B BEHAR—YRZXT—H5T E:
10971|5 K & AHAR—YRX—H5T 5
11812| B & BHRAKR—YRF—9FT E:
5911 iﬁE# E AHARA \—‘JZ:’F- 957 5
115063t FEth AHAR—YRF—H5T E;
10660| 5 %% 1!*4: BHAKR—YRFX—4H5T 5
1827[;k A & BHRAKR—YRF—H5T 5
12183\ #t 3K BHRAKR—YRF—H5T 5
4023|FRAE A fliF BHRAKR—YRF—H5T 5
4021|F &R {E 2 AHAR—YREXT—H5T 5
11942 F 1L fn A EH e #Z/‘\—‘JZZ\'— 957 5
3961 [f@ MM F 5% BHAKR—YRX—4H5T E:
121512 BIE AHARA \—‘JZ:’F- 957 5
5273|f#% H #4ER BHRAKR—YRF—9FT E:
11116|#18 2 BHRAKR—YRF—H5T 5
5116[#a K == BHRAKR—YRF—H5T E:
10272| 3111 ZBH BHAKR—YRFX—4H5T 5
7788|=FHH K3k BHRAKR—YRF—H5T 5
12181|(FH % AHRAKR—YRXT—H5T 5
12152| 11/ 3 AXER AHAKR—YRFT—H5T E:
11957 LA #AER BHRAKR—YRF—H5T E:
3253|5= & 5h TR ARX—H5T 5
3347|/BIL BAh 249 5
36841k KB 2149 5
11620[=F — & 249 E;
6580|528 [ &= 4 E;
10399[;R R &K AR—YT7o o3y 5
6963| K B X AR—=Y 793> s
6314| F A BTk AR—YTF7 o3> E:
2615|m)1| £ RS5—4 Es
9224|H3FH =R ABERL—T 95T 5
8439|EkR += BEEL—H 95T [

757(%d A ABEEREL—UTH5T 5
5965|=F FE NBBRL—T 55T E:
7843| LA B%E ABEEL—UTH5T 5
1188 F& = JREBARRERAX—V5D 5
9752|118 HFHRE JREBAERAX—95T ]
12144/ FEER A R—YI1=T4 3
6519k st AR—YaA1=T« i
11396[1E 2 K &E1T AR—YI1=T« 5
760611 A ETER AR—Y1=F+« 5
10100|F/E &EIE AR—YI1=T4 5
2245[1BX RE AR—Y1=F4 E:




6163[FHi &% IT7ANY—L— 5 F— L 5
2854| Bk ZF0 274N —L— 0 F— L F
3922| — = % 27AN—L—0 0 F— LI E:
11917(FTHE XN HWORRXZ—H5T 5
11918 qu i HORRX—H5T E:
6082|REE Rk HWORRXZ—H5T 5
11920 IJ.lE]’xa =iE HORRX—H5T E:
10514[)I] ¥ — AITAR¥—H5T ‘ 3
7584 [HIE BAZR BREAXEHZBERFXT—05T 5
11110]/MI11 08| BRTIAT—H5T s
11621[FEXK BE BRTIRAT—H5T 5
7263|[EE B F—Ls T+ (TEAM VON) 5
7694[3k A # F—1s 74> (TEAM VON) E:
5118|& K F4F F—1s TA> (TEAM VON) E:
2882(& JA F—L T+ (TEAM VON) L
6912|HFH #FA BEEXFX—H5T E:
2483|/MI £ AFXF—F—LTFTRJ—F 5
1394[K i BE—ER AEXF—F—LFR)—F E:
6729[KIBF HE X AX—F—LTFR—k \ 5
12109|51 5B RIARDAV T RRX—H5T 5
823| HIR A RYTAREX—95D E;
12145[/ i 2 7= RUTARX—=95D 5
8103|5:= {#HEH RYTAREX—95T E;
12195[3i K @#0 J—=ILEROARX—H5D 5
542|[L3E B A J—ILE9ARX—95D E:
4037|[E SR B th J7—ANAX—495T 5
172|MH Fth 27—ARREX—495T E:
7210|E & F tyialhSTER 5
11127(HZF @E BRAX—957 5
11432(R 3 B3t BIBRAX—957 i
12107|i#87k X+ BIBRX—957 5
11434[3RH £ BIBRAX—957 s
11787(P1 & AR ER IR A X —957 5
7040|870 X BIBRAX—957 E:
11788[#&EF 88X BIBRAX—957 5
11923| 5 &8 BORAX—957 E:
11950[#A7k K BIBRAX—957 5
2883|E5)1| JTH] BRAX—9357 E:
10950| KB FXx JFEAF— )L AT —ER E:
2237/ #k FiE FAYVT R RX—H5T 5
6393| UK FESE TAVTRA RX—495T s
6392| = H#h 17 = FAYTR RAX—H5T 5
7481|%)1 Eth TFTAVTRA RAX—495T E:
6994| N H #7 F—LE—bky—-tEyhk 5
6129|MH BA F—LE—Fy—-Fybk 5
6595 — Bk F—L-E—bky—-Evhk 5
4158| K &N F—LE—bFy—-Fyb E;
745| B & A F—LiE—bky—-tEybk 5
9648|E15 1= F—L-E—bky—-Evhk 5
SN|IBE B |_,u F—L-E—bky—-Eybk s
7836 %n& E,n ERAT—{EEE 5
41150 AR —{EER 5
11062 | Fi% {254 INTARAR—YH5T 5
11406[/MII ZF=A INTARR—YH5T E;
102283 78 &% INTARR—YH5T 5
11809(ZEfk EHA INTARR—YHS5T E;
12112|B8 fEz /v INTARAR—YHI5D 5
11325[57%1 B A INTFARATR—YH5D 5
10229[P#T fi& 4 INTARR—YH5T 5
12113|[E 0 {2 INTARR—YH5T 3
12111f8FH EA /\T«rZ/‘l'\ Vo957 E;
708[F KR IEA —TFHORREX—H5T 5
11375|HF —1F —FHORRX—H5D 5
820[#5 A fi25 V—FIRRX—H5T 3
6363|515 15 & S—FHRRX—H5D E:




6943| Nk KiE —FHRREX—H5T s
11922[/MIl B 1—IRITLF7—)L E:
7632| #4111 K15 1—TIRXILT—)L E:
10934| ik G 1—IRILTF—IL 5
2558|#21L "'"E'Fﬁ 1—IRILT—)L E:
4346|518 E— 1—IRILT—)L 3
7169 7'<,n TF A—IRILT—IL E;
12190|Fp 1L &£ A—IRILT7—IL E:
10484[ILF EX 1—IRILT—)L 5
5074| =88 & FEIRXF—F—L 5
11911l K4t F—I.02AF—4957 3
11022[/NE73F O—79R)— ]
3984| Rk X O—2J79K8)— 5
10130/ IHE O—279K)— E:
1290| 4T $1K o—2J79K)— 5
4599 K HIA O—279K)— 5
1294|:& &0 O—J79K8)— 5
11676[LLUFT =B O—279K)— E;
6642 KEE it AEF—F—L+O 5
6153| K57 S & 7—ILE— koF3D 3
600| A+ = 7—ILE— kX3 E:
12121[Fh B F—LTA—IILR—N\—RX—H5] E
12122| 5% iR F—LTFA—IILR—N\—RFX—H5] B
11915| & #th Y4—JLED¥37) (Ziel Tokyo) E:
3414\ ER ¥ — Y1—ILE X3 (Ziel Tokyo) E:
3415/ = Y4—JLED 37 (Ziel Tokyo) 5
12116[ 548 $$ﬁ Y4—JLED X3 (Ziel Tokyo) E:
11804|H O = Y4—JLED X3 (Ziel Tokyo) E:
11330(Fx 3 xﬂrs Y4—JLED¥37) (Ziel Tokyo) L
11803] LA Y4— LD F37) (Ziel Tokyo) E:]
3930|1#BF BE% HEXAXF—F—L 5
12158|F9 A & ~NYRRF—95T s
122EFT EE AR—YT IR - AT —H5T 5
7695[FAK FIE ZvF (RACH) E:
4139|BTER S8k ZvF (RACH) 5
51145k EAl S5wF (RACH) [
11031\ R %7 %% BHRFLEBTILRVAT—H5T 5
111230 ¢ RitzA¥—457 E:
12118|$0H & Happiness /\E R R) RAF—95T 5
11355|#% 3+ EAER =AY—FEURX—H5T 5
11366[F& E =A)—t RX—H5T s
1067185 £58 =AH)—FERFX—H5T E:
11352k ES =A)—t R¥X—H5T E:
12146 ARH &= =AY)—tEURX—H5T 5
11354 |16k RBE =A)—t R¥X—H5T E:
11357| 1% & =ARY)—tEUREX—H95T 5
11356[ 51 & =AH)—FEURFX—H5T E;
11349k = B— =AYt REX—H95T 5
11353(1lLA F4&E =AY—FEURX—H5T 5
12147(H;E LB BBER—vH & L—U5 55T 5
4409/ R HER W-ZERO Kagura Racing E:
12169[FH & W-ZERO Kagura Racing E:
12166|FH &= W-ZERO Kagura Racing E:
12170[FH K0 W-ZERO Kagura Racing E:
12164\ &= AN W-ZERO Kagura Racing &
12168| A B |8 W-ZERO Kagura Racing EH
12165 [a] B jC/T W-ZERO Kagura Racing E:)




